Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER- V. EXAMINATION ~Summer- 2019

Subject Code: 3350604 Date: 16-05-2019
Subject Name: Estimating , Costing & Valuation
Time: 02:30 PM to 05:30 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q1 Answer any seven out of ten. £2HIl SlEURL Ulctoll ot U, 14
1.  Define over head charges .
YRAMIML U292 G ALY
2.  State units of measurement for
1) gunuiting ii)flooring,iii)DPC
2. (2 <Al 215241 HIZ HIY AL Bis5HL V.
i) oSl i) sl i) Eliladl

3. Define Depreciation and obsolescence.
3. URGIML AL AHE A i, DUALA
4.  List objects of valuation.
¥, deyaelel ol Sl @ul
5. Calculate quantity of material for 1 m3 concrete work of proportion 1:3:6.
W, HeRud ol augHfl s21-1¢le1 4l slegle 1:3:6 <1l UMIQL HIL.
6.  Explain task work giving one example.
5. 2l dseil cUlu] GeleWL UL AL
7.  Define Cost and value.
9. uReu -5 el AWy,
8.  Differentiate between Scrap value-Salvage value
¢. dsldd AL WU AUy, 1 Yledw ey,
0. Differentiate between Book value -Market value
¢. dsldd ANL-AYS| oy, 6loR Ay,
10. List methods of approximate estimate.
0. elld w21Ne leall «l d «{l ALEl 41U,
Q.2 (@)  Write detailed specification for 12 mm thick cement plaster 03
ysl.2 (1) 12 4Rl menaurzez Hiz [Qatdar 2ugllzsad dv. 03
OR
(@  Write detailed specification for First class brickwork in C.M.1:6 03
(1) 52 sal Desiy (2l |l 1:6) Hi2 [z wueillssan avl. 03
(b)  What are the purposes of specifications? 03
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OR
State current market rates for the following.
(i)Cement (ii) Teak wood (iii) Bricks.
o1PMIA, syl [)lH2 )10l 4 dlsg 1) 21

Derive rate analysis for Cement concrete 1 : 5: 10 in foundation
AL <AL AlH2 51512 1:5:10 L2 BUd 155200 53U

OR
Derive rate analysis for 12 mm thick cement plaster in C.M. 1 :4
12 {lHl C.M. 1 :4 MgIna1z22 HIZ MUIA 35520 521,

Differentiate sinking fund and year’s purchase
dslad oseLldl RislaL 65 ua Sy udy

OR
Explain center line method for estimation.
el lbdl IR ol Yo @let ofl Id dldl

Calculate quantities of Excavation in foundation for Fig.1
UIAL ol bles1H ol 2120 2Mlt)- 2415(d 1

OR
Calculate quantity of Inside plaster for Fig.1
WidRs 1R ¢l «l 2190l 20el- 441s(d 1

Calculate quantity of form work slab Fig.1
Ao HI sl a5 ol ol 521 - wLs(d 1

OR
Calculate the quantity a earthwork for the road with the following data,take
formation width 10 m and side slope 1 in 2

Chainage Existing ground level Formation level
0 102 103
30 103.2 104
60 103.5 105
90 104 106
120 105.4 107
150 106.6 108

WG (Aald] uedl AS Hi HISLSIH <l 2120l 2t 2R3 §1RHLUeA uSlals
10 Hl, 8sL U 24lY 1:2 ¢l B,

Chainage Existing ground level Formation level
0 102 103
30 103.2 104
60 103.5 105
90 104 106
120 105.4 107
150 106.6 108

State different types of out goings and explain any one.

el el [ALH] WA oslicl 05 A dRld),
OR
Calculate the quantities of outside plaster for fig 1

2/4

03

03

03

04
04

04
04

04
04

04
04
06
06

06
06

04
04

04

04

04
04

04



Q.4

U ¥

Q.5

ud.u

(8)

(a)

()

(a)
(A)

(b)
()

(b)
(o)
(©)
(5)

(@)

(W)

(b)
()
(©)
(5)

61l 1222 ofl UL 201 - 15[ 1

OR

Calculate quantities of C.C. work in vertical wall and base slab for the
retaining wall given in fig 2.
WLsld 2 1l WE R[4l ald ol Ge{l €laid wa 18R @ HI (e
sisle il 2120l 20k,

OR
Weight of distribution steel in vertical wall for the retaining wall fig 2.
WIsld 2 1l Wd Re[e1d1 ald «l Gefl €lald UL @\Sdl £leloyeled ld
o] %l Qlltll
Weight of main steel in vertical wall for the retaining wall . fig 2.
ULsld 2 1l Wad Re[=d1 ald «{l Gefl elaid UL A1Fdl Yud 2216 <l

%=l 21,
OR
Stating methods of depreciation explain any one.

aes] of] Il wauidl Sle As A quidl.

Calculate the brickwork in super structure for the fig 1.
A5 1 ol Uslot W2 wellott Ul BUR ol URLARSIH ofl AR 2N

A newly constructed building on a plot costing 700000. The construction cost
of building is Rs. 850000 and the estimated life of building is 70 years.the
investor desires to have 8% return on outlay .Annual repairs may be taken as
25%.The interest for sinking fund may be taken as 4%.calculate the annual rent
that will have to be charged for the building.

A5 oHlel Befl SlHd 2. 700000 &l Ae1lGUR > 850000 o} iesIH SCALHL
(e w1, el Ales 70 o AL 4L HSlet oll ASISIR o 8% ofl
d0ldR ofl ©IRELL AR Hslel «il NS eilsl ol 21l 5. dl¥s (eilal
Wi 25% e} (RASTAL 5S ol cUlo €2 4% HIR).

Explain the need of rate analysis

clld US55 ofl es3lUld afd).

Explain rules of deduction for opening in plaster work.
WAlR2R SIH ML GLleGS] oll Q2 AHAl.
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